120_numbers
(TMdngzYfTHp7vHENFmrjJ9y64wmiip9JnjZ)

October 27, 2020

Let np__2 : ¢ be given. Let k4_ordinall : ¢ be given. Let v2_zxareal_0 : t=-0 be
given. Let m2_subset_1 : t=>1=-1=>0 be given. Let k1_numbers : ¢ be given. Let
kb_numbers : ¢ be given. Let m1_subset_1 : t=1=-0 be given. Let v1_xboole0 :
t=0 be given. Let v3_ordinall : 1=0 be given. Assume the following.

((v2_zareal 0 np_2)A(m2_subset_1 np__2 k1l_numbers k5_numbers))A (1)
((ml_subset_1 np_2 k5_numbers)\(ml_subset_1 np_2 kl_numbers))

Assume the following.
k5_numbers = k4_ordinall (2)

Assume the following.
(—wvl_zboole 0 k4_ordinall)A(v3_ordinall k4_ordinall) (3)

Assume the following.

VX0.VX1.((—vlxboole-0 X0)=-((ml_subset.1 X1 X0)<
(X1 € X0)))A((vl-zboole-0 X0)=-((ml_subset-1 X1 X0)<(vl_zboole_0

X1))
(4)

Theorem 1 np_2 € k4d_ordinall.



